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11.

INSTRUCTION TO CANDIDATES
Immediately after getting the Booklet read instructions
carefully, mentioned on the front and back page of the
Question Booklet and do not open the seal given on the right
hand side, unless asked by the invigilator. Do not accept a
booklet without sticker-seal and do not accept an open
booklet. As soon as you are instructed to open the booklet in
the first 5 minutes you should compulsorily tally the number
of pages and number of questions in the booklet with the
information printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not in serial order
or any other discrepancy should be got replaced immediately
within 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

Write your Roll No., Answer-Sheet No., in the specified places
given above and put your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions, otherwise Answer-Sheet will not be evaluated.
For each question in the Question Booklet choose only one
correct/most appropriate answer, out of four options given
and darken the circle provided against that option in the
OMR Answer-Sheet, bearing the same serial number of the
question. Darken the circle with Black or Blue ball-point
pen only.

Darken the circle of chosen option fully, otherwise answers
will not be evaluated.

Example : @ ‘ @ @ If (B) is cprrect gnswe;.

There are 50 objective type questions in this Booklet. All
questions are compulsory and carry 2 marks each.

Do not write anything anywhere in the Question Booklet or
on the Answer-Sheet except making entries in the specified
places. Rough work is to be done in the space provided in
this booklet.

When the examination is over, original OMR Answer Sheet is
to be handed over to the invigilator before leaving the

examination hall, while the Question Booklet and carbon-

copy of the Answer-Sheet can be retained by the candidate.
There is no negative marks for incorrect answer.

Use of any calculator/log table/mobile phone is prohibited.
In case of any ambiguity in Hindi & English versions, the
English version shall be considered authentic. For
Technical words terminology in English shall be
considered as standard.
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GEOGRAPHY - II

itet - 11

1.

Consider the following characteristic
features about a peneplain :

(a) It is necessarily a flat surface
(b) Itis an area of low undulating relief
(c) valley floors are broad

(d) Inter stream tracts are convex
gently graded

Which of the above mentioned

characteristics are correct ?
(8) (@), (b) and (c)

(B) (b), () and (d)

(©) (), (b)and (d)

(D) Only (a)

Which one of the following sequence of
features in ascending order is correct in
terms of ocean relief (from high to low) ?

(@) Continental shelf

(b) Continental slope

(c) Deep sea plains

(d) Ocean Deeps

Choose the correct answer.
(8) @) ®) () @

(B) (d), (), ®) @)

©) () @) @, (9

(D) (@) @), ®) ©

waa B % AR H FraRa weE W
fore HIRAT :

(a) € NETEEH T Y TF YUR 74 ¢
(b) e Fret i SearEer i & ¢

€ TATAASIE

(@) SFRERE & IS AR FEE Bt
g

SR < TR feael § @ HiF o wE ¥ 2

(A) (a), (b) T (0)
B () © T (@
© (@) b))
(D) %€ (a)

frafafad § § g # SwEg (354 9
) 3 ey H SR i G fedn

STHT TRl &2

(a) Teifgdia Ak
(b) RGBT

(€) T W WA
(d) | TR
T S

(A) (@), () (9, (@)
(B) (d), (), (®), (@
©) (), (), (a) (d)
(D) (d). (@), (), (©)
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Which of the following sequences of
Landforms from South to North is
correct ?

(@) Indo - Gangetic plain
(b) Plateau of Tibet

(c) Altun Tagh

(d) Himalayas

Choose the correct answer.
(A) (@), ®), (9 (@

(B) (@), (d), (b), ()

€ (), (), @) ()

(D) (@), (9) (b), (d)

Match the List-I with List-II and select
the correct answer from the codes given

below :
List-1 List-II
(Features) (Landform)
(@) Matterhorn (i Arid
(by Gara (i) Glacial
() Hummocks (iii) Fluvial

(d) Pot-hole
Codes :

@@ () (© (d
(A @ @ @) (@)
(B) (@) @@ (v) ()
© @) @ O @) -
O) @ @ @) @)

(iv) Periglacial

3.

4.

o | I aF Y-TTed w1 A H e
WE T T2

() YRA-TY gHae Tem
(b) FrewiE =R

@ 3T oo

(@ ferer it Sforat

& SW A |

(A) (@), (), (), @

(B) (a), (d), (b), ()

(© (@), (b), (@), ()

(D) (@), (), (b), (d)

Gt - 1 1 Gt - 11 9 foemsy ok o1as vt

I A T T e | g :
g - 1 e - I
( ferdroand ) (Y-T=Fd)
(a) HewH () I
(b) TR (i) ST YW
(c) THEm (i) A H I
(d) drR-3 (iv) Frafaaa
e

@@ ®) (9 (9
(A) @ @ (@) (v)
(B) @@ @ (@v) ()
© @) @@ @ @)
(D) @ @ () (@)
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Assertion (A) :

Burrowing animals help in graduai ‘

breakdown of rocks or fragments.
Reason (R) :

Burrowing animals dug out burrows and
tunnels in the rocks and unconsolidated
geomaterials as their living places.

From the above two statements, which
one of the following codes is correct ?

(A) Both (A) and (R) are true and (R)
explains (A).

(B) Both (A) and (R) are true but (R)
does not explain (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

What are the evidehces in favour of the
continental Drift theory ?

(a) Zig - Saw Fit

(b) Thermal contraction of sial
(c) Fossils in different continents
(d) Convection in mantle
Choose the correct answer.

(A) () and (© only

(B) (a) and (d) only

(©) (a) and (b) only

(D) (@) (©) and (d)

fuere (A) :
ﬁﬁ(aﬁ)wﬁmﬁwagﬁawagﬁ
Tuel 1 HR-4 T2 § T B B
T (R) :

fore (RY) S ST SFeR ST S1e7al el
el # fae a1 g ST SO e
WALl

IR S FUAI BT B T FHE WA &2

(A) (A) @ (R) 3 ¥ € &R (R), (A)
F e I B

(B) (A) @ (R) 3 & ¥ W (R), (A)
Tt SATAT o] FET S |

(©)  (A) 7w & Y (R) T B
(D) (A) T T (R) ¥ T

Teifedia frger fagia % wmeA § SF-31

N qaeg E?

(@) -9 I

(b) o fugh % arda T
(c) fafi werfgdl § Sframed
(d) Fed ¥ Heed

& SW A |

(A) ¥ (a) 3 ()

(B) el (a) SR (d)

(C) s (a) 3R (b)

(D) (@) (©) 3R (d)
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A river in the mature stage is likely to :
(a) Deepen its valley

(b) Make a delta

(c) Make ox - bow lakes

(d) Make a floodplain

Choose the correct answer.

(A) (a) and (d)

(B) (b) and (d)

(©) (b)and (o)

(D) (c) and (d)

‘Roaring Forties” are :

(A) High velocity westerly winds
(B) High velocity trade winds
(©) High velocity polar winds

(D) High magnitude tidal waves due to
high wind velocity

Assertion (A) :

Temperature in the troposphere falls with
increasing height.

Reason (R) :

Pressure falls with increasing height.

From the above two statements, which is

correct of the following codes ?

(A) Both (A) and (R) are true and (R)
explains (A).

(B) Both (A) and (R) are true but (R)
does not explains (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

7.

T ST W SreRen H HeEa:

(a) AT = I AR TR HEA
(b) T TEE TR

(c) T feu-a g o1 Frafor soh
(d) T arg Sl 8 F it wel

W SR

(A) (a) 3R ()
(B) (b) 3R (d)
©) (b) 3 ()
(D) (o) 3 (d)

IR :

(A) 3= ik ufvet gamd

(B) =4 Ttk SR TN

(©) 3= TR et T

(D) =4 Wik gaeTl & HIOT Iod YRHT
! SaE qal

afuewerT (A) :

ged § a5t SO % Y qeEE Fd

A R

HNT (R) :

wgdl a1 o 1Y T FRaT S €

I SFl el 1 Frefafea B | E-m

T FET?

(A) (A) T (R) T 93 § 3R (R), (A)
! ST FAT 1

(B) (A) T (R) Qi ¥ € W (R), (A)
i AT T @ T

(C) (A) ¥ § 9% (R) oM g

(D) (A) 7o § 9% (R) 9 B
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10. The primary divisionsin Kopper'sclimatic ~ 10.

classification are based on :

(2)

(b)
(©)
(d)

Monthly and annual averages of
temperature

Mean annual temperature
Seasonality of rainfall

Monthly and annual averages of
precipitation

Choose the correct answer.

(A)
(B)
©)
(D)

11. Match the List-I with List-II and select 11.

(a) and (b) only
(a), (b) and (c)

(a), (b) and (d)
(a) and (d) only

the correct answer from the codes given

below :

List-I List-II
(Tropical cyclones) (Country)
(a) Hurricane (i) India
(b) Typhoon (i) Caribbean
(c) Cyclone (i) China
(d) Willy Willies (iv) Australia

Codes :

(A)
(B)
(©)
(D)

@ ® @ @
) @ @ O
@ O @ 6
@ @) O @
@ 0O @) @

Fiod ¥ woag aie § ge fqus
et € ¢
(a) Wk TE afien SiEE qI9EE W

(b) iR Ed HH R
(c) o hT g W
(@) o = i iR At Sled

E SR

(A) e (a) 3R (b)
(B) F (a), (b) HR ()
© (a), (b) ()
(D) % (a) 3R (d)

et - 1 %1 gt - 11 & fiemsy oft 98 s

= feg T e § I

gt - 1 Tt - 11
(ST wfeadfa weha@)  (S9)
(a) TR () W
(b) TEEA (i) A
(c) shard (i) <\

(d) foefit-foeits (iv) ofefem
e |
@ ® () ()
(A) Gv) @) @) @
(B) @) @) (@(v) @)
© @ @@ O @)
(D) @@ @ @) @)
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12.

13.

Which one of the following sequence of ~ 12.

trophic levels is correct in ascending

~ order ?

(a) Autotroph

(b) Herbivore

(¢) Carnivore

(d) Omnivore

Choose the correct answer.
(A) (d), (9), (b) and (a)
(B) (b), (a), (c) and (d)
© (@), (), (c) and (d)
(D) (9, (a), (b) and (d)

Match the List - I with List - II and select 13.

the correct answer from the codes given

below :
List - I List - II
(Development of (Nutrients)
plants)
(a) Strong roots (i) Nitrates
and stems
(b) Development of (ii) Phosphates
green leaves
(c) Highyields (i) Potash
Codes :
(@ () (9

(4) @& G (@)
(B) (@) @@ @
© @ @ @
(D) @@ (@) (i)

e § 9o RO SE-T TR AR
w2

(a) T

(b) R

(c) WiEwER

(d) WIERRT 3R YRR S
T WA |

(&) (d), (©), (b) 3R (a)

(B) (), (), (0) R (d)
© (@), (), (o) ¥R (d)
(D) (o), (a), (b) 3R (d)

eIt - 1 Gt - 11 9 foemse qon 7 $e
ﬁ'ﬂ'ﬁ‘fﬁ?ﬁﬁﬁz

gt - 1 g - 11
(T waefT ) (o a )
() WREWSIR () I
TSTed
(b) Tuf@i®w (i) WERH
foreme
() =1 TeER (i) drerE
%he:
@@ (b) (o

(4) @O @ @
(B) (D) (@) @
© @ @@ @
(D) @@ @ ()
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14.

15.

Match the List - I with List - I and select
the correct answer from the codes given

below :
List-1 List-II
(Current) (Ocean)
(a) Benguela (i) Indian
current Ocean
(b) Kuroshio (i) Atlantic
current Ocean

() Mozambique (iii) Pacific

current Ocean
(d) Antarctic (iv) Antarctic
circumpolar Ocean
current
Codes :

@ (® (@ (@
(A) @) @ O @)
® @O @ @ @)
© @ @O @ @)
(D) @) @) @ @)

Assertion (A) :

Salinity increases the density of sea water.

Reason (R) :

Man is seldom drowned in the sea water

with very high salinity.

From the above two statements, which

one of the following codes is correct ?

(A) Both (A) and (R) are true and (R)
explains (A).

(B) Both (A) and (R) are true but (R)
does not explains (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

14.

15.

e - 1 g - 11 9 faerse @ f %2
¥ W I YT :

Tt - 1 T - 11
(8mr) (9rR)
(a) ST G fesREmR
b) TN W () D
HEEIR
(c) wonflew U/ (i) I HEEER
(d) SlefRs gamd  (iv) JHeRH
YR TR

X
@ ® © (@
(A) @ @ @ )
B @ @ @) )
© @ @ @) @)
(D) @) @ O )

fiemReT (A) :

U R ST S ) gl

ST (R) :

1ty =9 AU ATl S S § SEH T~

T & ol 8

SR & FoRl % T fr § ¥ 99 W e

@ e?

(A) (A) 7 (R) 3 ¥ ¥ SR (R), (A)
) e HA B |

(B) (A) 7l (R) & T § W (R), (&) H
e el I 2|

©) (A) T ¥ T (R) o T

(D) (A) 7o/ § T (R) ¥4 ¥
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16.

17.

Assertion (A) : 16.

Latitudinal temperature differences over
oceans are lesser than those over land.

Reason (R) :

Surface currents in oceans equalize
temperatures.

From the above two statements, which is
one is correct from the following codes ?

(A) Both (A) and (R) are true and (R)
explains (A).

(B) Both (A) and (R) are true and (R)
does not explains (A).

(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

What is correct in Normative Theory ? 17.

(@) Ituses deductive method

(b) It uses inductive method

(c) Itis deterministic method

(d) Most classical location theory are
deterministic

Choose the correct answer.
(A) (a) and (b) only
(B) (a) and (c) only
(©) (a) and (d) only
(D) (), (c) and (d)

AfueRert (A) :

Y-FE I UL WIHE Fag W A
AR HH Bl T

T (R) :

AR B GE! STETERT arqH i se T )
L1

SR S wA § W A fRT T e F
3TER -9 HY Tt &2

(A) THE (A) 3R (R) T T 3R (R), (A)
Tt ] A B |

(B) Tl (A) 3R (R) ¥1 ¥ W (R), (A)
T ST TR B B

(©) (A) T g (R) T €
(D) (A) T WG (R) ¥F B

" fagia # s e 82
(a) O FrTAT fafyr %1 Swim B 1

(b) TEH AT fafy w1 S S
gl

(c) =% FreaarTs fafa €

@) fuysra wasa feafa fagra
- Tregerers 2 €1

e WG |

(A) 9 (a) 3R (b)
(B) I (a) 3 (¢)
(©) 4 (a) 3R (q)
(D) (a), (c) ¥R (d)
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18.

Given below are two statements, one
lebelled as Assertion (A) and the other
lebelled as Reason (R).

Assertion (A) :

The one who led the development of new
geography in France was Paulvidal de la
Blache.

Reason (R) :

He found his way into Geography
through his study of ancient history and
classical literature.

Codes :

(A) Both (A) and (R) are true, and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R)
does not explains (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

18.

afirme (A) ol wRuT (R) & wwiferd <
oA fge T §)

AREHYT (A)

R wig § 7 e % T 1 g
fran 9% Wafaea-3-1 s o1

TRUT (R) :

I e § STt e, WA e T
e wifee % AR ¥ ¢8 Freeen

(A) (A) T (R) 3T & T 3R (R), (A)
1 FE ST FLal ¥

(B) (A) M (R) 31 W ¥ T (R), (A)
F ST T8 S

©€) (A) ¥ ¥ W (R) T &1

(D) (A) o/ ¥ TG (R) ¥ €
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19.

Given below are two statements, one
lebelled as’ Assertion (A) and the other
lebelled as Reason (R)

Assertion (A) :

According to the determinist people are
living in similar manifest, similar social
and/or historical development.

Reason (R) :

Evefy ‘dsp'e;ct of man’s life mirrors the
influences of the physical environment of
his habitat."

Codes :

(A) Both (A) and (R) are true, and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are correct but (R)
is not the correct explanation of (A).

(C) (A is true but (R) is false.

(D) (A) is false but (R) is correct.

"19.

AR (A) iR ®wROT (R) F Tmifera
oM few e §)

atfiere (A) :

FrRuEITEEl 6 WeTER Sl T W e,
T GO H Svrean S fawma o
WAR

T (R) :

T & g ® Toe 94 SHh SEEE
e & ifes Srarerer o gvre ) giafsifad
TR

e

(A) (A) a1 (R) SF T ¥ 3R (R), (A)
! HE AT S

(B) (A) @l (R) T wel € 7 (R), (A)
! & ST el hidl 2

(C) (A) ¥} T (R) e g1

(D) (A) 7o T U (R) W T
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20. MatchtheList-IwithList-IIandseleét 20, G-I ﬁ'ﬂ;ﬂﬁ‘—ll?@qgﬁﬁﬁﬁsﬂ'{

the correct answer from the codes given IR w9 TRl W AT ey

below : :
List-1 List-II e - 1 e - 10

(a) Structural () Dependent (a) T W () AR
relations variables

(b) Seriesofsteps (i) Constants ) e P E @) R
in model |07
building

(c) Parameters (i) Algorithms () = () (iif) YR

(d) Reasons for (iv) Equations (d) o= ¥ FRE (V) FHRTO!
variations

Codes : %< :
@ ® © @ @ ® ©@ @

(A) @ @) O @ A @ @ O

® Gv) @ @ O ® @) @ @ O

© @ O @ @ © @ @ @

D) @) @ @O @ O @) @ @O @

SPACE FOR ROUGH WORK / T® w1 & fod e

7210/TFU-GEO/GLE-11 13



21.

Match List - I with List - IT and select the
correct answer from the codes given
below :

List-I List-II

(Books) (Geographer)

(@) Geography: A (i) Monkhouse
New Synthesis

(b) Nature of (i) Haggett
Geography

() Maps and
diagram

(iiiy Hartshorne

(d) India and (iv) Spate
Pakistan

Codes :

@ () () (9

(4) (v) @@ @ @

(B) @) @(v) @ @@

© @ & @ @)

D) v O @ (i)

21. Fel- 1 H gelt - 10 ¥ W gafem =% o

T e ¥ w7 T
gt - 1 g - 11
(fra) ( 3T )

(a) e : T () Higsy
sMYyfeh Heerwor

b) Y H TR @) e

(c) THfed ud o (i) wrERR

(d) 9NA T MHEH (iv) e

%
(@ () (© (d

(A) @(v) @) @) @)

B) @) Gv) @ (@)

© @) @ G @Gv)

D) @) @ G (i)

SPACE FOR ROUGH WORK / % &1 % f&d wrig
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22. Match List - I with List - II and select the
correct answer from the codes given
below :

List-1 List - 11
(a) Malthus (i) Migration
(b) Warren (i) Theory of
Thompson population
growth
(c) Carr Saunders (iii) Demographic
transition
(d) Everett Lee (iv) Optimum
population
Codes :
@ ® (© @
@) @ @ @ 0
® @ @ @)
© @ @ @
D) @) @) @ 0

23. Match List - I with List - II and select the
correct answer from the codes given
below :

List -1 List - II
(@) Geddis (i)  Primate city
(b) Howard (i) Garden city
(c) Jefferson (iii) Central

places

(d) Christaller (iv) Conurbation
Codes :

@ ® () @
@) @ @ @) )
® v @ O G
© @) @ @ @
O O @) @ @

22.

23.

@-Iﬁ;ﬁﬁ—nﬁwaﬁvﬁ%ﬁq

e T T ST AT
gl - 1 g - 10
(a) wEIE @ e
(b) oA AP (M) SHEE IS
w1 fagia
(c) R WFEH (iif) SR
LER]
(d) wRE (iv) Fo<dH
(nfea)
SHEE
E &R
@ ® @ @
(A) @) @) @) @
® @ @ @) )
© @ @ @O

(D) G(v) @) @ @

@ﬁ—lzﬁrga"r—n@rfqmqamﬁﬂw

{ TE ST I T HIT

gt - 1 g - 11
@) Wfg@ @ IR
(b) T () TET IR
(©) (iii) e N
(d) TrEr (iv) SHEA
e

@ ® © (@
(A) @) @) @) @)
(B) Gv) @) @ i)
©) @@ @ @ )
D) (@) @) @) (@
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24.

25.

Following four cities are located in  24.

between 80° to 86° E Longitude :
(a) Patna

(b) Lucknow

() Kanpur

(d) Nalanda

Which one of following is correct
sequence, if you travel from south to
north ?

(4) (@) @) (), (b)
(B) (@), (b), (0), (d)
© (), (@), @) ()
(D) (@), @) (b), (c)

Bring out the chronological sequence of  25.

years of book of population geography :
(@) India’s population problem

(b) Geography and crowding world
(¢) A geography of population

(d) Population geography

Codes :

(4) (9 (b), (d), (a)

®) ), ©, @) @

© @) (© @) ®)

(D) (©), (d), (), (a)

= TR WX 80° ¥ 86° 16Ty % ey freg
g:

(a) T
(b) &I
(€) MR
(d) e

AfE 379 FFq0 ¥ SR B AR o = o
QA T STRT Te R ?

(4) (@), @), (0) (b)
(B) @ (), (9), (d)
©  ®), @ @ ()
(D) (@), @), (), ()

STHE A HY TR B HIHATAR
3TRY STy

(a) RA I SEE T gHE
(b) TSsTaTR T wRET ave
(c) SHEEA F i

(d) SEE yE

%e

(A)  (9),(b), (@), (a)

(B)  ®) (©) (a), (d)

©) @), (), (d), (b)

(D) (), (d), (b), (a)
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26. The internal and external geometry of a
slum are :

(@) Regular and grid like

(b) Haphazard

(c) Circular and concentric

(d) Linear and axial

Which of the above answers are correct ?
(&) (a) and (b)

(B) () only

(© (9and(d)

(D) (9 only

27. Match the following in Urlif)an areas :
List - I List - I

(a) ZoneinTransition (i) Haphazard

(b) Basic sector (i) High ground

(c) Upscale areas (i) Income

generating

(d) Slum geometry  (iv) Concentric

zone model
Codes :
@ ) ( (@
A @ @ 6 @
® @) @ @ O
© @ @ @) )
D) @) @@ Gv) @

26.

27.

nfgT sfdl it iad a0 SR S ®9
KR

(@) frafaa aik e S
(b) eAfrafaa
(c) TSR IR Hhfed
(@) e R gl
TR H ¥ B G SWE?
(A) () 3 ()
(B) % (b)
© © @
(D) ad (c)
e 91 wed & ¥ fesy

gt - 1 g - I
(a) cifeem &= d) et
(b) smeo@@ AR (H) I qM
(c) STTERA & (iif) T TSI

(d) T T (W) (iv) e & Hiew

%

@ ® () @
(A) @) @Gv) @ @
®) (@v) @) @ @
© @ @ @
(D) @@ @) @) O

SPACE FOR ROUGH WORK / 1% &rd % 18 g
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28. Match the following :
S List-1
(2) Rank Size (i)
Rule
: (b) Concentric (u)
Zone
~ model
: .:(c)‘ ‘Sector - (iii)
. Model
(d) Multiple  (iv)
" Nuclei
Model
~ Codes :
@ (b) (o)
(&) @) @) @
(B) (v) (i) (i)
© @ @ @)
(D) (@) (@) (i)

List - I
Based on small
pockets of land
use -

“Based on distance

and direction from
city centre.

Based on Distance.

from city centre

City size structure
relationship

@
@)
0
)
0

29. Which of the following are non - ecumen

areas ?

@
(b)
(c)
(d)

Polar regions

Deserts

High mountains

River valley plains

Codes :
(A) (@), (c) and (d) only
(B)  (a), (b) and (c) only
(€)  (b), () and (d) only

(D)

All the four

28.

29.

= =t ﬁ?ﬂ'&"{ :
-1 -1

() WA ® (i) BRESH
-IFN W
YT

(b) Hehfsd S HiSH (i) VR F T&A
&= 9 faem
iR o W
ayia

() ¥R HisaA (i) IR-FEW
TR
YT

(d) Tg-F=AEA  (iv) IR AR
& ey

%< :
@@ (b) () (d)

(A) @) @v) @ ()

(B) (v) (@) @@ @

© @ @ G @)

(D) (i) @) Gv) @

T ¥ T TH-3g &9 2

(a) ofta &=

(b) TEEIEHT &

() =4 Tekdia &

(d) “E-=1d Hem

%he

(A) F (a), () 3R (d)

(B) %A (a), (b) 3R (0)

Q) %= (b), (c) 3R (d)

(D) @+t =i
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30.

31.

Given below are two statements one

lebelled as Assertion (A) and the other

lebelled as Reason (R).

Assertion (A) :

In dry regions the settlements are

nucleated.

Reason (R) :

Fewer water sources attract many

people.

Codes :

(A) Both (A) and (R) are true and (R)
explains (A).

(B) Both (A) and (R) are true but (R)
does not explains (A).

(C) (A) is true but (R) is false.

(D) (R) is true but (A) is false.

Match List - I with List - IT and select the
correct answer from the codes given
below :
List - I List - II
(Tribes) (Area of
cccurence)
(a) Adivasis (i) Kerala
(b) Moplahs (i) Nilgirihills
() Todes (i) Manipur
(d) Angamis (iv) Madhya
Pradesh
Codes :

@ @ © @
(A) @) @ @ @)
(B @) @ @ ()
© @) @ @) (@)
(D) @v) @@ @ @

30.

31.

T2 & e g T § 5 iR (A) i
T (R) 9§ TR R T R

afimeT (A)

o &5 H s, i et €1

T (R) :

o H TS T FN BT A B AR

TGRS

%<

(A) (A) T (R) SR & € 3R (R), (A)
Y S HA B

(B) (A) 7 (R) 3 ¥4 ¥ 3R (R), (A)
) S T HW R |

©) (A) ¥ ¥ T (R) T €

(D) (R) & & T (A) TTerd €|

Tt - 1% g - 11 ¥ e iR f g
{ TE WA :

T - 1 gEr - I
(St ) (Sufterfa &)
(a) onfeamEt (i) T
(b) W™ (i) et Teifeat
(c) °re@ (i) AT
(d) SFTH (iv) T W™

ETXE:

@ @® (© (@
(A) @) @) @ @)
(B) @) @ @ (@)
© @) @ @) @
(D) Gv) @) @) @6
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7210/TFU-GEO/GLE-II




32. List -1 List - 1I 32.

(Ore) (Metals)
(a) Limorite (i) Copper
(b) Pyrite (i) Uranium
(c) Bauxite (iii) Iron
(d) Monazite (iv) Aluminium
Codes :

@@ () (@ (@
A @& @ @ @)
(B) @) @ @) ()
© (@) @) & @
D) @& @) (v) (i)

33. List-I List-II 33.
(Types of (Area of
farming) occurence)

(a) Shifting (i) Tropical
Cultivation Forest
Regions
(b) Terrace farming (i) Hillslopes
() Commercial  (iii) Tropical
farming Regions
(d) Subsistence (iv) Temporate
farming Regions
Codes:
@ ® (@ (@
A 6 @ @) @)
B @ O @) @@
© O G @ G
(D) (@) @) @ @

e - 1
(31T )
(a) iHRIEE
(b) TEEE
(c) e
(d) TR

(a) @
(B)
©)
O @

(a)

(b)

()
(i)
(iv)

(iv)

(g i)

(c)

(d)

%e

(b)
(A @ @
(B) @ @
© ® @)
(D) (iv)

-1
(&rg)
@) e
(i) I
(iii) T
(iv) TegfafrEm

(d)
(iv)

et - 11
(Yerar &)

() SuEfE™
9 &

Tl oA
ORI

yitareo
Hieay 4

SPACE FOR ROUGH WORK / T% & & & wg
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34. Match the List - I with List - L and select 34, ot - I 1 Gt - I % el GAfer Hifsg

the correct answer from the codes given 3R = fed 2l | W SW g :
below :

List-I List-II Tt - 1 g - 11

(Tribe) (Habitat) (St ) (3EE )
(@) Toda (i) Meghalaya (a) A= (i) e
(b) Masai (i) Uttarakhand (b) HEE (i) TGS
(c) Bhotia (iii) East Africa (c) wifemn (iii) T{Eﬁ 3T9"?|'5Fﬂ
(d) Khasi (iv) Nilgiris (@ @ (v) TR
Codes : %<

@ () (© () @@ () () (@)

(a) O @ @ @) (A) G @ @) @)
(B) @ @v) (@) i) (B) (@) Gv) O @)
© @v) @) @@ @ ©€) (@v) G @@ @
(D) @) @ @) @ (D) @) @ @Gv) @

35. Which of the following characterise 35. a0 Fefafea 9o ﬁ'@'ﬁlﬂﬁ

‘Frontier’ ? g7

(a) it is inner-oriented (a) 98 TaqEl 3

(b) it is outer-oriented (b) TEafeqEt?

(c) it acts as an integrating force (c) T THIH ¥ o 1 FE HE T
(d) - it acts as a separating factor (d) TT AT I S

Codes : ETE

(A) (a), (c) and (d) only (A) F (a), () ()

(B) (a), (b), (c) and (d) (B (@) (), @ ()

(©) (b) and (d) only (©) ¥ (b) 3 (d)

(D) (a) and (c) only (D) ¥ (a) ¥R (©)

SPACE FOR ROUGH WORK / 1% &td & fod s
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36.

37.

Which of the following languages belongs 36.

to the Dravidian family of languages ?
(@) Sinhalese

(b) Brahui

() Malyalam

(d) Nicobarese

Codes :

(4) (a) and (c)

(B) (c) and (d)

(©) (a) (c) and (d)

(D) (b) and (q)

Which of the following statements are  37.

true about the primate city ?

(a) It is usually the largest city of the
region / state

(b) It dominantes the state with respect
to most commercial, industrial,
educational and political concerns

() Itis the oldest, but declining city of
the region

(d) The concept was proposed by Zipf
Codes :

(4) (@), (b), () and (d)

(B (c)and ()

(©) (@) and (b)

(D) (@), (b) and (0)

Frafafaa & 9 SF-$H € gfag wmw 9iEr
= 9T € ? ' ,

(a) Toweft
(b) g

(c) e
(d) Trerrerd

%e

(A) (a) T (o)
(B) (o) T (d)
©) (@) () 7= (d)
(D) (b) T ()

wrave fodt & I § Frefafed § 9 $9-9

Y & E?

() YS¥/TET H AT UHERAT I
TRE

(b) T I Afyerin =fori=ren, sfenfie,
Srerforen we T nfafafee § saet
Haitees e gt B

(c) I% YW H T WEH R gEE
TREI

(d) 39 STaYREN %1 Hfqaes e 3 fFn

%<

(A) @ (), (T (d)
(B (@@

© (@ D)

(D) (a), (b) T (c)
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38.

Given below the two statements one
lebelled as Assertion (A) and other
lebelled as Reason (R).

Assertion (A) :

The level of urbanisation is the hallmark
of development.

Reason (R) :

Increasing  Urbanisation  means
phenomenal increase in the concentration

of human population in a limited space.

Codes :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A).

Both (A) and (R) are correct and (R)
does not explains (A).

(B)

(C) (A) is true but (R) is false.

(A) is false but (R) is correct.

(D)

38.

9 @ wu g @ € afiweT (A) SR
HROT (R) ¥ Ffem fofen e )

MR IT (A) :

EdIeRuT 1 TR ForeRTe &1 qrAioTe Famg 2
?

&RUT (R) :

gd) TEdE ¥ T Wi d W W AN
ST TR0 § ST gfE Bl B |

(A) (A) T (R) ST & g R (R), (A)

F GE TS R |

(A) T (R) 3 ¥ § W (R), (A)
T TET SARAT e FAT R

(B)

(C) (A) T § R (R) 7o B

(D) (A) 7 & W (R) W& 2
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39. Match the following : 39. T gfaal =0 faemse -

List - I List - I gl - 1 - I
(@) Concentric (i) Homer (a) TH<Y A AEA (1) SRITEE IR
zone model Hoyt and . Sfaw
M.R. Davis
(b) Wedge or Sector (i) E.W. (b) S AT HRY (i) 3TxY SEM
Model Durgess Hisd
(c) Axial model (i) C.D. Harris () <wiiig Ated i) w2 ¥
and 3R RG]
E.L. Ullman YeTHHA
(d) Multiple Nucli (iv) Galpin (d) wghHEd (iv) TedE
Model
Codes : %<
@ () (© (@ @ () (¢ (4
(4) @ @ Gv) (@) (a) @ @ @) @
(B) @) @v) @ @@ (B) @) @) @& @
© @) @ @) (@ © (@) @ @) (@
D) @ @ @ ) D) @ @ @@ )
40. The tropical forests have been exploited ~ 40. WRd H ISTH{ESY T I SATH HIE TN
more in India as : TIWF
(a) They are the only forest we have (a) AR I THAH 9 ?
(by They provide good quality timber (b) A TH TS TUTETCH HIS AT
(c) They are more accessible (©) o H you foy 48
(d) There are restrictions on cutting of (d) i ol i @A # wfady ©
temporate forests
Choose the correct answer. & SR G|
(A) (a) and (b) (A) (a) 3R (b)
(B) (b) and () (B) () 3R ()
© (¢ and (d) © (93 (@)
(D) (a) and (c) (D) (a) 3R ()

SPACE FOR ROUGH WORK / T% &/ & & W 1g
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41.

42,

Given below are two statements one
lebelled as Assertion (A) and other
lebelled as Reason (R).

Assertion (A) :

Most cyclones hit the Eastern coast of
India than the Western coast.

Reason (R) :

The eastern coast of India lies in the path
of the north-east trade wind

Codes :

(A) Both (A) and (R) are true and (R)
explains (A).

Both (A) and (R) are correct but (R)
does not explains (A).

(A) is true but (R) is false.

(A) is false but (R) is correct.

(B)

©)
(D)

Bring out the chronology of establishment
of Iron and Steel Industries in India given
below.

(a) 1ISCO

(b) HCL

() TISCO

(d) VSL

Choose the correct answer.
(A) (@), (), (9) ()

(B) (o) @), () (d)

© (9, ®) (@), @)

(D) (@), (). (), (b)

41.

42.

I arfirerer (A) 3R &ROT (R) 9 TR
3 & feg T B

AR (A)

SferaT ThdTd. WRA i UREHT 92 i 3198
et a2 i Afess Tefaa S §1

HNIT (R) :

IR 1 Jal 9 SR-Jol! SR 96T H T
T

%<

(A) (A) 71 (R) I ¥ T 3R (R), (A)

H & AT Tl

(A) T (R) S W § 9 (R), (A)
T HE e T8 HaT R

(A) I § T (R) T T |
(A) TR € T (R) ¥ B

(B)

©
(D)

R § wfaeentya iie-soma Sefirs aiasem
T HIeEhY ST |

3R (IISCO)
@

(c) Tfe=HI (TISCO)
() AW

EH ST A |

(A) @, (), (), (d)
(B) () (a), (b), (d)
© © ®) () (d)
(D) (@), (d), (), (b)

(@)
(b)
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43.

44.

According to the 2011 Indian Census 43.

arrange the states on the basis of sex
ratio :

(a) Kerala

(b) Tamil Nadu

(c) Chhatisgarh

(d) Madhya Pradesh
Choose the correct answer.
(A) (@), ®) () @)

(B) (®) @) () @)

©) (©) ®) (@) ()

(D) (@), (@), (), ()

Assertion (A) : 44.

A thermal sensor can penetrate.
vegetation cover.

Reason (R) :

Insat satellites are placed in Geostationary

orbits.

Given above are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R). Select your

answer from the codes given below :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A). v

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (R) is true but (A) is false.

2011 % WG ST & TR, fT-31gam
¥ SMYR W F= Tl oA Safed i

(a) @

(b) dfAeTTg

(c) g

d) WA I

& I

(A) (a), (b), (c), (d)
(B) (b), (a), (o) (d)
©) (9, b), (a), (d)
(D) (d), (@), (b), (c)

afuener (A) :

A G, ST SR | ot TR Fehdl
gl

T (R) :

e JrereE A e wa H i
fapa T ®

IR Q) wd fou e § 5 atfenaT (A)
qT WROT (R) ¥ THifewa fran man 81 R
T e ¥ I W H AT

(A) (A) T (R) 3 ¥& T 3R (R), (A)
F T8 A T S|

(B) (A) T (R) <M W&l ¥ 3N (R), (A)
F EI e T8 w B

(©) (A) ¥ § T (R) oW ¢
(D) (R) 9 ¥ 9] (A) oW 2
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45.

46.

Assertion (A) :

Overlay operations are the hallmark of
GIS.

Reason (R) :

Boolean operations help in understanding
overlays.

Given above are two statements are
labelled as Assertion (A) and the other
labelled as Reason (R). Select your
answer from the codes given below :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A). -

Both (A) and (R) are true but (R) is
not correct explanation of (A).

(A) is true but (R) is false.

(R) is true but (A) is false.

(B)

©)
(D)

Given below are two statements one
labelled as Assertion (A) and the other
labelled as Reason (R). Select your
answer from the codes given below :

Assertion (A) :

Shapefile is a single feature class.
Reason (R) :

Coverage is part of shapefile.

Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A).

Both (A) and (R) are true, but (R) is
not correct explanation of (A).

(A) is true but (R) is false.’

(R) is true but (A) is false.

(B)

©)
(D)

45.

46.

JRHAT (A)

of aTresTe WA St o7 TH (GIS) ®

wrfores forg & € |

HRT (R) :

g;ﬁ;ﬂ#@qr&'mﬁﬁmaﬁﬁw
|

IR & e fou e § o st (A)

YT THWOT (R) ¥ Fmifka fomen wn &1 f&w

T Fe § I W & G|

(A) 91 (R) SFi W&l T 9k (R), (A)
i HE TS HE ¢

(A) 91 (R) BN & € T (R), (A)
T HE e TE T R

(A) T § TG (R) T4 R

(R) T ¥ T (A) T R

(A)
(B)

©)
(D)

fr ] waAl ®1 AfuEm AT (A) du
HTOT (R) ¥ THifha foran T 81 3T W
1 =999 e %2 @ wifsw

afireRer (A) :

AIEES T, Fae iR 59 R |
RT (R) :

FHA TFES 1 TH W T
e
(A) (A) T (R) 31 ¥4 § 3R (R), (A)
1 & TS F T

(A) T (R) I W ¥ G (R), (A)
1 TE AR e T

(A) ¥ § W (R) 7€ B

(R) 9 § T (A) T B

(B)

©)
(D)

SPACE FOR ROUGH WORK / 1% &t & for&l 7
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47.

Given below are two statements one -.:47.

labelled as Assertion (A) and the other
labelled as Reason (R). Select your
answer from the codes given below :

Assertion (A) :

'WIFS stands for Wide Field Sensor.

Reason (R) :

'WIFS hasvf:ivne spatial unit and very wide
‘swath.

Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (R) is true but (A) is false.

=1 @ o for W € 5 sl (A)
FoI TIOT (R) & -Wifeha fovan o 81 319
I H e 2 | g

AT (A) :
WIFS &l U1 &9 Wide Field Sensor ¥1
@R (R) :

WIFS § & WA difgas gfe 3 § ok
wgd diel @Y Fa B

%<

(A) (A) T (R) 3 & € 3R (R), (A)
1 WE ARAT T

(B) (A) 3 (R) i ¥ € T (R), (A)
H W& =R T '

(©) (A) T g (R) T T

(D) (R) 9 TG (A) 7o &
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(b) Intersect (ii)

() Union

(d) Buffer

Match the following functions in GIS :

List - II

(i) Polygon to a specified

distance around the
input features

A geometric
intersection of input
features

i) A portion of features

common to all layers /
or feature classes
written to output

Geometric intersection
of input and selected
features

© @
0 @
@ 0
@ )

(v) @

48. 74 GIS & Y[ &l fHeET ¢

g - 11

(i) TGS HER & IR AR TH

fordifera g =1 wgy |

(b) TEEE (i) T R H T

AT et

(iii) RIS 1 T W7 S 94t

Tl % foa S S §
37T Y & fag
foran T wiR T

(iv) $Ye iR =afa ekl =t

5 11010 LR TS G|

(€ (d

@ 6
(i)  (iv)

(v) @)
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49,

50.

Match the following :
List - I List - 11
(a) Relational (i) Iconic
data modelo
(b) Quadtree (i) Fine lines
(c) Vector (i) Form of
Data Raster
(d) Aerial (iv) 2-dimentional
Photos table
Codes :

@ () (@ @
(A) @) @) @ @
(B) (v) @) @@ O
© @ @ @ G
(D) @) @ @) @

[

Arrange the four scaling techniques in
statistics in descending order of the
number of following properties :

(a) Difference

(b) Magnitude

(c) Equal interval

(d) True zero

Codes :

(A) Nominal - Ordinal - Interval - Ratio
(B) Ratio - Interval - Nominal - Ordinal
(C) Ratio - Interval - Ordinal - Nominal
(D) Nominal - Interval - Ordinal - Ratio

~000-~

49.

50.

(@) Temma s () SEHITH
Higed

(b) S (i) ThIE AEH

() WA (i) H IE
YR

d) TEa (iv) 2-TEANE
EC (]

%he

@@ ®) (© (@

(A) (@) @) @ @

(B) (v) () (i) (i)

© @ @ @) @)

(D) @) @) Gv) @

Freferfea TorE! @i de & wiedd ¥ 9r

FehTeh! ol STORIE ¥ H AU whIfSIT :

(a) fasig

(b) O

(c) TuH U

(@ g

E X

(A) o - HHYISR - FARR -~ ST
(B) UM - HEARR - TfHH — FHLIR
(C) 3TIE - HEARR - ShAY® - THH
(D) fHeR - ALARR - SHAYEH - FTI

-00o0-

SPACE FOR ROUGH WORK / 1% e % e sig

7210/TFU-GEO/GLE-II




SPACE FOR ROUGH WORK / % &g & & sug

7210/TFU-GEO/GLE-II 31




I 3R T T AT ;1927 15 fufve } { atfreraw 3 : 100

Time for marking answers : 1 Hour 15 Minutes Maximum Marks : 100

e
1. =9 e-gRasl § 50 T ¥ - O ¥ 2 3 F¥1 Wl 7 v o e

2. Y ¥ IW, & T OMR IR-IME (AW-¥e) W ifera wfew)

»

SRUTTH Heieh T8 fohdl STerTl |

farelt ot T ¥ HAPOIR A T T T WS B B A S ¥

-

5.  OMR STR-32 (STeR-2) 1 T H1 §7F U HE STEEur 7 H/3d (68 7€ e S A
wqi Hrg a1 faeee onft ug Wi Fes eras 9T e ¥ W |

Note :

1.  This Question Booklet contains 50 questions. Each question carries 2 marks. Answer all
questions.

2.  Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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